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* Local Oscillator freq. noise

RESADEERBR

x* Agilent E8663D-UNX catalogue spec.
= 5e-5/ f~2 Hz/sqrt(Hz) --> freq. noise = 5e-5/ f Hz/sqrt(Hz)

Option UNX: absolute SSB phase noise (dBc/Hz) Offset from carrier
(cw) 1.2

Frequency 1Hz 10 Hz 100 Hz 1 kHz 10kHz 100 kHz 5 Q | 7“ ARy 7

spec (typ)  spec(typ) specityp) specityp) specltyp)  spec(typ)

250 kiiz tn 250 MHz 53(-66) -87(-84) -I04[120) -121(-128) -128(-132) -130(4133 % [Bl1£250kHz~250M HZ@SpeCODfE%'T%}EH L7z,

L

» 25010 500 MHz -61(-72)  -88(-88) -108(-18] -125(-132) -132(-136) -136{-141)
» 00 MHz to 1 GHz -57(-85)  -B4(-83) -I(-M} -121(<130) -130(-134) -130(-135)
» 102 GHz -51(-38)  -790-88)  -96(-106] 130124 -1240-129) -124(-129)
» 21032 GHz -46(-54)  -T4(-82)  -82(-107) -M(-120) -120(-124) -120{-124)
»32W09GH: -37(-44)  -B5(-72)  -B1(-82)  -101(-109) -10(-118 -110(-13)

1/f phase noise *

r2

Assuming 1/f noise shape of }\ S

spl f), the total frequency fluctuation can be written like this:

/ NG - = 2V N SAREICHALLAX(TRICSER—)

A f= differential frequency noise
https://granite.phys.s.u-tokyo.ac.jp/wiki/Lab/index.php?LCGTALSPhaseNoise

2 ¢ Nj .
Nssp(f) = T —  Af =dnm

where ‘\'3 is the SSB phase noise at 1Hz and f"m_\: is the maximum frequency for integration. Without this limit, the integral will diverge.

with V2 = -110dBc (about the spec. of R&S SMB100) and f,,,. = 1kHz, the resultant A f = 0.028Hz.


https://granite.phys.s.u-tokyo.ac.jp/wiki/Lab/index.php?LCGTALSPhaseNoise%23z7c239c3
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dBc/Hz -58 -87 -104 -121 -128 -130
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ST Af(Hz)  0.0111860.0039690.0056070.0079190.0353750.280993
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Af~ 0.00281 x f=93 Hz



